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GE1-COMMERCE
PRINCIPLES OF MICROECONOMICS

Full Marks: 60

ASSIGNMENT

The figures in the margin indicate full marks.

Answer all assignments from the following 15%4 = 60
el e @FEE (Assignments) TG4 we
1. Explain the concept of Income Consumption Curve (ICC) and Price 6+3+3+3=I15

Consumption Curve (PCC). Draw indifference curve diagrams showing the
ICC in the following cases:

(1) both X and Y are normal goods
(i1) good X is normal and good Y is inferior
(ii1) good X is inferior and good Y is normal.

Income Consumption Curve (ICC) 3fR Price Consumption Curve (PCC) @&
JMAURYT & dR # IRy | f=faRad &= # Indifference curves T T
o3, 1CC fexafd gy, 911 |

(i) TFT X 3R Y normal goods &

(ii) good X normal & 3R good Y inferior &

(iii) good X inferior € 3R good ¥ normal &

Iafe (olel (ICC) @k wiwate celal (PCC)

feraferiare cwea wete (ol (ICC) ofzre Fea fMeeamet el o= F¢
(i) X 9 Y @<y 96 M=l &

(ii) X 9T M4 7 @R ¥ 96 72 Ty

(iii) ¥ 9o M4 75 @R X 9 g8 w9

M @Ud 9% (ICC) X Fed @Ud as (PCC) B AR fIdRAT foreig ™ |
T ATRTTE AT SERAA STl ARG IS I8h N@Med Blgag—
(i) T4 XX Y HMERI QA &

(ii) AT X AT 8 X AFE Y g (inferior) &

(iii) | X e 81 X | Y 9 8
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Distinguish between Short run and Long run. How is the long run average cost
curve derived from a set of short run average cost curves?

Short run 3R Long run @ &9 f¥=dT & IR # quid HIFTA | MY ©A long
run average cost curve @I T set of short run average cost curves A IR

Jhd B, U BT |

FHFIE 8 AR W& e Foi o 9@ 2 9F o= FEFE 518 7 @2
R fFeIa ALFIE 918 I3 @ ot 2t (derived) A 9

Short run X Long run d19 f¥=IdT ole e8| | HEX short run average cost

curve &I T 91 long run average cost curve FcUsl TR THG ?

Show the long run equilibrium of a firm and an industry operating under
different cost conditions of perfect competition. Explain the concept of
producer surplus in a perfectly competitive market with the help of a suitable
diagram.

Long run equilibrium of a firm 3R Industry ST faff= @RI | perfect
competition H operate A T, IADI AHIEAT DI | 39 F<H H producer
surplus @1 LR BT NEIAH T8 IuH DI |

o eferifeor IeiE T [ifen wreq fofere ~fuifre w0 ¢ fim TgFEE
S bl w91 7 eferaier Aei Teriwee Tge @3 qReit Sl
NPT R

TUh BH Pl M Qs A ¥ Jui yfoRueie! A= arTta 9d st Udb

SUNTHI Y& QST [[SUIth IEMIFAD! FEANH T A YfoRuelf
JOIRHAT TGS ITERITDT TRV 0 T |

Explain the equilibrium of a discriminating monopolist. State the reasons of
absence of supply curve in a monopoly market.

U& discriminating monopolist @7 equilibrium @& IR H IUHE BRI | TH
monopoly STR H “supply curve” @ 9 & & HRU & IR H TC DI |

7N oI @I IR SIFAN DA 91 AFEHA ASE @6 @A
wifEfon ige (T F4)

YU T UPHMOBRATEIDT Age 9o e | YHITDHR qol=HT MMYfef

HHDI IMTTDHT HRO] ERISREINE

5+10=15
10+5 =15
10+5 =15



